Supplementary Figure 1. Results of Shapiro-Wilk test for total bacteria count (TBC) in group 1 (G1).

Histogram: TBC Turbine+HVE (G1)
Shapiro-Wilk W=0.969, p=0.746
— Normal distribution curve
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Supplementary Figure 2. Results of Shapiro-Wilk test for total bacteria count (TBC) in group 2 (G2).

Histogram: TBC Er:YAG+HVE (G2)
Shapiro-Wilk W=0.898, p=0.038
— Normal distribution curve
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Supplementary Figure 3. Results of Shapiro-Wilk test for total bacteria count (TBC) in group 3 (G3).

Histogram: TBC Control (G3)
Shapiro-Wilk W=0.948, p=0.346
— Normal distribution curve
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Supplementary Figure 4. Results of Shapiro-Wilk test for aerosol amount in group 1 (G1).

Histogram: Aerosols Turbine+HVE (G1)
Shapiro-Wilk W=0.978, p=0.764
— Normal distribution curve
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Supplementary Figure 5. Results of Shapiro-Wilk test for aerosol amount in group 2 (G2).

Histogram: Aerosols Er:YAG+HVE (G2)
Shapiro-Wilk W=0.925, p=0.036
—— Normal distribution curve
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Supplementary Figure 6. Results of Shapiro-Wilk test for aerosol amount in group 3 (G3).

Histogram: Aerosols Control (G3)
Shapiro-Wilk W=0.899, p=0.008
— Normal distribution curve
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